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o FUA FIT W o [F 5§ geT-97 H Had §¥ 15 79T
797 18 8/
Please make sure that the printed pages in this
question paper are 15 in number and it contains
18 questions.

o F97-5 H 2fe &Y & SR 47 T4 FIT TR 9T AT B BT
FR-GRA%T & J&T-5% T fard]
The Code No. and Set on the right side of the

question paper should be written by the candidate
on the front page of the answer-book.

2805/ (Set : A) P.T.O.



(2) 2805/ (Set : A)
o FHUIT F9T FH T [T@T & FA G &, F97 & HHIF Fa9T
frg|

Before beginning to answer a question, its Serial

Number must be written.
o FIR-YRAFH & &= 7 Grell g=11/7~ 7 ©Is|

Don’t leave blank page / pages in your answer-
book.

o TW-YRaH & Sfaked #F o= dic TE [l I
STAIFATIR &1 [ of for@r aav 7 #c|

Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written

answer.
o THETef 19T T Fo FIT-GF GT 3G9 [/

Candidates must write their Roll Number on the

question paper.

o FYAT 79l & TR & & g9 7€ GAoEd & & & qo7-97 quf
7 & & gier & uvrT 3@ e § FiF ot qrEr @Ew
7T fFaT AT |
Before answering the questions, ensure that you
have been supplied the correct and complete
question paper, no claim in this regard, will be
entertained after examination.
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qe: (i) aHtgeT sfard

All questions are compulsory.

(ii) TGS Fol & @&l fadey [ |
Write the correct option in objective type

questions.

(iii) @Tef ST a1t w971 & iR ey &7 qraemT &1
Internal choice has been provided in long

answer type questions.

(iv) T% 797 & 3 F0F G q9Ifd T3 &

Marks of each question are indicated against it.
gug —

SECTION - A [ Marks : 26
(Hifeer famme)
(Physics)
1. (i) fogq e s e s 1
(A) TR smawr & yare &t feem
(B) fergrq &= &t faam
(C) Torgq amr & ware & e
(D) 39 ¥ FIE I
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Potential determines the :

(A) Direction of flow of electric charges
(B) Direction of electric field

(C) Direction of flow of electric current

(D) None of these

(i) 3T oMUS U UHEHN H9 & A FIresd & af &7
yfeRrest & oy fbaw weR & e § 9o #x

o & ? 1
(A) 2
(B) 3
€ 4
(D) 6

If you have three equal resistances then
how many different combinations can you
make with these resistances ?

(A)
(B)
(©)

N W N

(D)

2805/ (Set : A)



(5) 2805/ (Set : A)
(i) FCRIGDRT & AU HH FASH B G A AASRA
UL G R Bl &l 1

The equivalent resistance of a series
combination iS .......cceeeieiel. than the
largest resistance.

(iv) S & IO B S, TR e, =
PT AT X &I S el 2| 1

The quality of water can be measured by
measuring its .........cocveveeninnan.n. value.

(v) 9 TEEE H AW FAey Bl arg-Hed § e o
e § RGeS &7 9 e HIAT ST & 1

Name the chemical, which is held
responsible for the depleting ozone layer of

our atmosphere.

(vi) TB AT GF & TBT Td oo, 3}
SuRyfa ¥ sreEie qeref § weies gard & fHaf
N TH 2| 1

Some living beings can produce carbonized
matter from uncarbonized matter in the

presence of sunlight and ..................... .
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2. UF & qlial & auie iy, e germar § Us fagq

I B AT DT THAT AT Geh| 2

Mention two ways by which the strength of an

electromagnet can be increased.

3. gd oo % SHfcrsIRer qo qEge & ST a7 S © 7
W B 2

What do you understand by overloading and

short-circuit of an electric path ? Explain.

4. ST AT T YR FT AP & ? W HIfT| 2

What do you mean by biological magnification ?

Explain.

5. GUIftT faerg & Gear § ‘& ITANT & 397 9B & 7
qui T | g Iame Ht | 2

What is the importance of 'Reduce' in the
imagination of sustainable development ?

Explain with the help of two examples.
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6. Hol & ‘B YA ¥ fhdl 3T & qAfaRo qUT S IT &

TN fImr @ e arel T9mEl @ e SeTeky digd
Hig| >

Explain the effects of "reduced" use of energy on
a country's environment and its sustainable
development. Also give examples.

7. o ¥ 29 T wioleel & EEH @ o A {6y A T

B & 4/ ¥ 9971 811 ? 31 iy | 4
E 30 D
3Q
C
3Q§ 69\\
6Q
3Q
A VYeY B

Find the total resistance between points A and B

in the combination of resistances as shown in

figure.
E 30 D
30
C
3Q 69\\
6Q
30
A 50 B
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8. U fagq I & Ry&rw, 9= 91 Srfafy & gies 9o
FiforT| 6

Describe the principle, construction and working

of an electric motor with the help of a diagram.

YT
OR

U6 [RE R Je= (d. c. generator) *® ﬁl@ﬁ, ECEL
qT BT FT G 0 BT

Describe the principle, construction and

working of a d. c. generator with the help of a

diagram.
gug -
SECTION-B [ Marks : 17
(vama fa=m)
(Chemistry)
9. (i) I o7ad ¥ fobae ad &I & 7 1
(A) 32 (B) 18
(C) 8 (D) 16
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How many elements are there in 4th

period ?
(A) 32 (B) 18
(©) 8 (D) 16
(i) Ufvesse § F-81 JEETES T8 & 7 1
(A) -OH B) ~C=0
(C) -CHO (D) - COOH

Functional group present in aldehydes is :

(A) ~OH B) ~C=0
(C) - CHO (D) - COOH
(iii) T & foha qedde® ey & ? 1
(A) 7
(B) 8
(C) 9
(D) 10
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How many covalent bonds are present in

propane ?
(A) 7
(B) 8
(©) 9

(D) 10

10. SUTET & G T goiaei fag deE W) 2

Write formula and electron dot structure of

ethyne.

11. N T P & 3oacie v o | 390 § SF-491 1
=07 fgdg 8 7 2

Write electronic configuration of N & P. Which of

two is more electronegative ?
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12. T ST & foe ormad § 9 Seoar & 7 4

(2) ORATY HIRS

BIERISERIESERE

How does following vary in a period ? Explain.
(a) Atomic Size

(b) Valence Electrons

13. FEMEEE T by FBd & ¢ 39 AT & 999 FIv q&d@l
& W T Ge= g fafeg| 6

What are carboxylic acids ? Give formula and

structures of first four members of this series.

SRRl

OR
(a) HYW T FEI FHe AR B aRAT fRg| S
B OF-0F IeTE0 G| 3

(b) HIE & AOADT @I AT T H BRO FART| 2
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(c) WO &l g forfeg| 1

(a) Define saturated and unsaturated carbon

compounds with one example of each.

(b) Why carbon forms such a huge number of

compounds ?

(c) Write formula of propanone.

qug -9
SECTION-C [ Marks : 17
(vfrar farsTrer)

(Life Science)

14. (i) [r=fafEd & § o $gfae arfad &Xar s ? 1
(A) org A (B) TAg A
(C) SIS RIESER
Which of the following secretes insulin ?

(A) Thyroid gland  (B) Parathyroid gland
(C) Pancreas (D) Thymus gland
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(i) fr=fofes & § S99 $99 g@te ? 1

(A) ATVE & faere s & gorl

(B) Tt @1 foebre A & ga

(C) ferdisht ofR wia & a9 o &

(D) ferdisit 8fR #1Ma % TaT STeT-SFerT &

Which of the following statement is
correct ?

(A) Human beings evolved from chimpanzee.
(B) Chimpanzee evolved from human beings.

(C) Chimpanzee and human beings evolved

from common ancestor.

(D) Chimpanzee and human beings evolved

from different ancestors.

(i) AIH T HEH TAT GRS MAT & g B g
U X BT Tl &l [ o ? 1
Which vegetable has been bred by human
through artificial selection by selecting
arrested flower development of wild

cabbage ?
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15.

16.

17.

18.

(14) 2805/ (Set : A)
TRy & FT geR @ TREr qend 8 U gfe oA §
AR gEll gf& qad 81 uedl § g9 I I quie
| 2

Plants show two different types of movements.
One depends on growth and the other
independent of growth. Explain these in plants
by giving examples.

J -8 SR & A1 T4 Wiehsl & Ig9a § oo & 7 2

What factors could lead to the rise of new
species ?

e & JAFT T B9 qdT I & R e wow w9 9
QI B & 7 4

How do Mendel's experiment show that the traits
are inherited independently ?

TS &I FAAT & H BHM 7 TR FEAd1 axd & 7 6

How do hormones help in coordinated growth of
human beings ?
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OR

MRASE & HIAT BN JUT HIfT|

Describe the functions of forebrain.
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